A ZADATAKA IZ UDZBENIKA MATEMATIKA 3 ZA 3. RAZRED GIMNAZIJE

Zadatak 13.  Rastavljanjem nafaktorerijed jednadzbe:

1) 1+ sinXx-Ccos2x = sinX + COoS2X;

2) ctgx -+ cosx = 1+ ctgXx- CosX;

3) t¥x+tg?x —2tgx —2=0;

4) 4sinx-cosx — 1 = 2(sinX — cosXx);
5) 12sin’x-tg?x+ 3 = 4Si? X + 9tg? X.

RjeSenje. 1)

14 SinX-Ccos2X = SiNX + C0S2X
1—sinx—cos2x+ sinx-cos2x =0
1—sinx—cos2x(1—sinx) =0
(1—-sinx)(1—cos2x) =0
1° 1-sinx=0

sinx:l:x1=g+2kn, kez
2° 1—-cos2x=0

cos2X=1 — 2% =2kr, X =krn, keZ

2)
CtgX 4 cosx = 1+ ctgXx - Cosx
ctgx + cosx — 1 — ctgx - cosx =0
cosx — 1 —ctgx(cosx — 1) =0
(cosx — 1)(1—ctgx) =0
1° cosx—1=0
cosx=1 = x =2kr, keZ
2° 1—ctgx=0
cgx=1 = x2=%+kn, kez
3

tg*x + tg?x — 2tgx—2=0
tg?X(tgx + 1) — 2(tgx+1) =0
(tgx+ 1)(tg?x—2) =0
1° tgx+1=0
tgx:—1:>x1:3%r+kn, kez
2° tgfx—2=0
tPx =2, tgx=+V2 = xp; =arctg(+v2) +kr, keZ
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4)
4sinx- cosx — 1 = 2(sinX — COSX)
4sinx-cosx —1—2sinx+ 2cosx =0
2cosx(2sinx+1) — (1+2sinx) =0
(2sinx+1)(2cosx—1) =0
1° 2sinx+1=0

. . 1 5 7
2snx= -1, smx:——:>x1:—”-|-2k7r, XZ:—E+2kn, kez

2 6 6
2° 2cosx—1=0
2cosx = 1, cosx:%:>x3=ig+2k7r, kez
5)
12sin?x - tg? x4+ 3 = 4sin® x + 9tg x
4sin’x(3tg*x — 1) — 3(3tg?x— 1) =0
(3tg?x — 1)(4sin*x — 3) = 0
1° 3tg®x—1=0

1 3
3t x =1, tgzx=§, tgx:i% :>X1=:|:7—6t~|-kﬂf, kez
2° 4sn’x—-3=0
4sin’x = 3, sinzx::—g, sinx:iﬁ
4 2
T 2r 4z 5r
— X2 € {§+2kﬂ?, §+2kﬂ?, ?+2kﬂ?, ?+2kﬂ7},

= xzzingkn, kez





